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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', ’'setVI VN ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

3500 {4 —@— ECO

3000
2500

2000

1500 - L 3 PN ®

Warning: co si

1000 - o o

60 80 100 120 140



Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forXX6 0

minFVI
minFVO

Warning: col ['minFVliraw , 'minFVOraw'] is missing

S~
o

[ ] ETcAlraw
ETcAl ]
—@— ETcA

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0

3500 4 —@— ECopt 2% |
—0— ECI

—e— ECO ~ I
3000 ¢ I

2500

2000

1000 i i
9.0 ¥ i

6.5 :
Warning: col ['PHC'] is missing :
6.0W
T I
31.5 | —®— WCperM |
1
1
31.0 i
1
1
1
30.5 1
1
1

30.0%

29.5

29.0

Warning: col ['WCperMraw', 'WCperMavg'] is missing

28.5

0.50M

1
1
1
0.45 1
1
1
1
0. 40 i
1
| —@®— minDeltaM
0.35 [ —®— avgDeltaM -
:—.— stdDeltaM
0.30
1
1
0.25 :
1
1
0.20
L 1 1 1 1 1 1 1 1
TS .
30 1 —@— begM
: —0— maxM
28 : —— minM_
1
1
:
26 |

24

1
i
1
1
22 :
1
1
1

ZOW

: ad JFVOR
0.04 :
1
1
1
0.02 ;
1
1
1
0.00 I
1
1
1
-0.02 :
1
1
!
-0.04 Warning: col ["adjFVIRraw™, "adjFVIR", "adjFVORraw ] is missing ;
1
1
1.6 T i
. 1
o , ® FRA
1.4 : o FRC |
1 [ ] FRraw
1.9 o L J : — FR ]
° I
1.0 { :
1
0. :
1
1
0. I
1
1
0. 1
0.

0 20 40 60 80 100 120 140 160

100

[ ) postFgEtraw
—@— postFgEtavg
80 4 —®@— postFgEt

60 M

40 K iy




o
N

100
80
- 60

o
< o
|

. |
_4___7 _3-__-%
&.
Q
b [l
-%JO

| LTI %

O\

[N _.-___-Mw
e

O@\.\\@‘

/&,\ @&V
&
F g
s R
g

—_— o = = —

FgDaily



XX6_0




ESo ETclis ETcPT ETcP ETcldef ETcl

1.0
0.8
0.6
o 0.4
|_
(NN}
- -0.2
0
|_
i
-0.0
o
o
--0.2
()
o
>
-0. 4
=
>
-0.6
L _
[a W
o
o
ETcl EToldef ETcP ETePT ETclis ESo  ETol ETbai pR VPD PPFD RH



175 +
150
125
o 100 -
'—
(NN}
75 4
50
25 A
400 A
350 +
300 +
— 250 A
o
o
200 ~
150
100
. - P
o)))’?’
] e o ® i G0 o
e o o )
oe® @
_.. ove :oo.. o - o.::g.o
Co A ® ([ ak ]
. o.(. ..3.:.@. ¢ . ¥ °
.9 L] Y (]
] o%¢ 1
o 0e°
= . -
. {eo
1 o 4
H
°
1e ... .% ( 4
®
o 1° e zg"’@ . |
® €0 O, .0 ) (
Ce o 20%,
e 0%¢, % o
i ° %° 4
® )
°
T T T T T T T T T
200 . 1 o 1 o . ° y ] °
150 N [ ] ] T ) 1 (] o - o o - - a
) . '. . . . . ' .
° ¢ °® o? ? o °®
° ° ° ° °
° ° ° ° °
Z 100 o ® © T ° T e ° o 1 eee o T i e @& ©
g 3o oo %l s 3.
o o ®wece’ ‘“® e°P o . o0 o
50 - - - s - ¥, o - e %
4 o* e S o v &
o Co0 [ J owe® o @9 [ ) J
(.. ® (] ® ® ....
Y () o @ PO [ ® (] °
0 - | | O °® ] ‘O... Y | ® .68
T T T T T T T T T T T T T T T
2004 2 o . ] . ]
'P% % LA o * °
175 N (. - 1 (.' - -
e @oeo ° oge © 0% o %
150 ge i oy i So® ° i
@ [ ] (] ®
o, 0, °%
1254 @ ;“%.‘0 ° _ i PP
- (fg e & o ® e ( 1 J ®
100 offy 9¢° o ® o o . A °
«© éz\%tt . .C.’t.‘..
519 &89 . 4 Tes
°=':5. ° °° 4
50 4 «® ° - leoe
“ é
25 @ 1@ o -
T T T T T T T T T T T T
50 100 150 100 200 300 80 0 50 100 150 200 50 100 150 200
ETcl ETol VN |




300

250 -

200 -

150 -

100 -

50

obs
Fit

1.0

0.8

0.6

0.4 -

0.2 -

0.0

0.0

0.2

0.4

0.6

0.8

1.

0

obs

200 A

175

150

125 -

100 -

75 1

50 A

25 -

Fit vs obs: a=0.78, b=12.61,

r=0. 64

1.0

0.8 -

0.6

0.4 -

0.2 -

0.0

0.0

0.2

0.4

0.6

0.8

1.

0



hour

105

145

105

145

125

:10

:55

140

:20

:20

&S

100

80

- 60

- 40

20



XX6

BYiE) | GEBERTIC (B)) | EM=E (EAH/#K) | XS EFE

08:05 34 10.0 i FEA@08:05 (K FA{EESE)
08:45 34 10.0 i FnHRe08:45 (KRF{ERLEE)
09:25 34 10.0 i FnHA@09:25 (RFEREE)
10:05 34 10.0 i Fn#fe10:05 (KRFEERES)
10:45 34 10.0 i FiHA@10:45 (KRFEEREE)
11:25 34 10.0 i FnHfe11:25 (REERES)
12:10 34 10.0 i FifA@12:10 (KRPBIERSE)
12:55 34 10.0 i FiHfe12:55 (RFERSE)
13:40 34 10.0 i5] FEfe13:40 (KAERSE)
14:20 34 10.0 i FiEA@14:20 (KRAIERSE)
15:20 34 10.0 i FiEA@15:20 (KAERSE)
2it1374.0 (113%) 110.0 3 UHKEC: 2500, PH: 6.5

unusual large postFgEt from yesterday (32), set to 30.0 ml.
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XX6

BYiE) | GEBERTIC (B)) | EBE (EAH/#K) | XS SRR

08:10 171 10.0 ;] ’Ri%@08:10 (kPB{EREE)
08:50 171 10.0 FA ;Ri1%@08:50 (RFERLES)
09:30 171 10.0 {5 1R1%@09:30 (K FAfER%=2)
10:10 171 10.0 i BRi&@10:10 (FKPBHERE)
10:50 171 10.0 i ;Ri&@10:50 (kPAfEREE)
11:45 171 10.0 i Bi&011:45 (REERE)
12:30 171 10.0 i B1%@12:30 (FREERE)
13:20 171 10.0 i Bi%013:20 (KREEHZE)
14:15 171 10.0 i Bige14:15 (REEREE)
15:00 171 10.0 i B218015:00 (KREEHE)
16:05 171 10.0 i ;Ri&@16:05 (kPB{EREE)
23t 1881.0 (113%) 110.0 B FHKEC: 2500, PH: 6.5

EORGEBR R CRIRIRBEN (171.0 vs 34.0))

2RI\ L PRIEEE50. 0 ml.
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XX6

FfiE) | EBIATK (FD) | ERE (EA/K) | XK EFE

08:05 170 10.0 i {R1%@08:05 (K FH1ERLES)
08:40 170 10.0 i B3i%@08:40 (RFA{EELZE)
09:15 170 10.0 i B18@09:15 (KRFERLEE)
09:50 170 10.0 {5 1R1%@09:50 (K FAfER%=2)
10:25 170 10.0 i BRi1%&@10:25 (FKPBHERE)
11:00 170 10.0 i Bi%011:00 (KREEHZE)
11:35 170 10.0 i Ri&e11:35 (RAERE)
12:10 170 10.0 i Bi%@12:10 (REEZERE)
12:45 170 10.0 i BRi&@12:45 (KPBERE)
13:20 170 10.0 i BRig@13:20 (KAERSE)
14:00 170 10.0 i BRige14:00 (kBERHE)
14:45 170 10.0 i BRi&@14:45 (KPBERE)
15:50 170 10.0 i Bi&@15:50 (RFEERE)
2it]2210.0 (13%) 130.0 3EHIKEC: 2500, PH: 6.5

ERGEBR R CRIRIRBIEI (171.0 vs 30.0))

2RI\ L PRIEEES6. 0 ml.
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XX6

FjiE) | EBIRTHE (FD) | EBE (EFH/HK) 5 R

09:10 171 10.0 E ’Ri%@09:10 (kAfEEE)
09:55 171 10.0 = {RRi%@09:55 (FkFIERLEE)
10:40 171 10.0 = B1%@10:40 (KRAERE)
11:25 171 10.0 S Rig&e11:25 (RKAHEHE)
12:30 171 10.0 ;] ;Ri&@12:30 (kPB{ERE)
13:50 171 10.0 1] ’Ri&@13:50 (KkBfERHE)
14:50 171 10.0 1] B1&@14:50 (KRFERLEE)
2it]1197.0 (TR 70.0 EUHKEC: 2500, PH: 6.3

EORGEBR AT CRIRIRBEI (171.0 vs 30.0))

BRIASLPREIRES6. 0 ml.
[E;%PH (7.28) RS
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